obooobOo boooobO obooboooo

OOoooboboo ADB
gooo 1. 0000 —gooodogdoon —

obhoobooooobooon
— — RSAOOO0OOOOO(DODODODDOO) ——

1

uobooooobobobooobobobooboobboooooooboooboooobooonD 30
gbooobobooooobooooboooo

000000000 00000000000—RSAODOUOOOOOO (DODOOOO0OO) —
gboooboooooogn

1. 0000000000000 000000000000 (Doooooo) —
2. 00000000000—RSAUDOOOOODOO (DOOOODOO)—

3. 00000000000000—00000000000000000000000 (00
0ooooo)—

gbobooboobobobobobobobobobo3bobobooboboboooboogn
000000000 (b0oo0)0U0000 (UD)0DD00O0UDDLO0O0O0OOO0O0 300000000
gboooboobobooobobooboooboobobobooboooobooboboboong
gboobooboooobobobobooboobbooboboboooobooboooobono
goooobboboobobbooobobobooooboboboooboobbooooobobo
ubooobOoboooobobon

H 00000000000000
00O 00O
J
Y
oooooo |(0oooo) oooooo
A
oooooo oooooooo
Y
000 (Oo) 0oooo
A
0oooO 0000000
Y
DooOooOo |((0o0oooo) oooooo
J
oooooo 000
Y
00000 00000
J
t » 00O >

!

000 (0ooooo)

l©@000000 0000000 0000 (e-mail: kuri@ice.uec.ac.jp), 2003 — 2010. (2010/9,/22/18:35 0 0)
0000000 http://www.code.ice.uec.ac.jp/kuri/C3/ DO 00000000
(11x3: /doc/tex/uec/jikken/2010/istext2010crpt.tex)



ogoon
1. 00000000 RSAOOODOOOOOOOOOOOOOOO0OOOOOO

2. 000RSAO0OOCODOOOOOOO0OOOO0OOO0ODO0O0ODOOODOOOOOOODOODO
gosbgooooooo

ooooobood

1. ORSAO0OOODOOOOO0O0OOODODOCOOOOOOOUOOODOOOOOUOOODODOO
0A40000000000000000O

2. 000000000000 bOobOobOObOOobObOObOO0bOobOobOOo0bOobOobOoono

J.booboobooobooobooboboobooobooboobooboobooobooobOoooon
booobooooboboooobooooobooobo

4. 000000 “bO00”00000O00O00DOOO0O0O0ODODOOOOOODOOO0DOOOO
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020000000000

00 23 000000000 600000050000 M,C,K,E,D)0000OOOOOODO
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1. MO0DOOOODOOOODOO
2.C00000000000000
. KOoooooooooooooo

4. 000 KekKOODOOOODOOOODODOODOO
O KOOOOOexkefO MOO COOOOOOOOO

5. D000 KeKXOOODOOOOODOOODOODOOOODO
0 KOOOOOdgeDOCOOMOOOOOOOOO

6. 0000000 KekKOOO MeMOOODdg(ex(M))=MO0O000 1

000 AO0OO0OD0 K. OODOOOO MOOOOOOOOOOK.OODOOOOOOOOQOOOO
oooo000 MmOoOOOOOOOOOODOOOOBOOODODOOODD Kg0OOoODDOOO C©
ocoooo0ooO00K; 000000DOO0O00OO00OOO00O0O0 cOobOOoOoOoooooo
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0006500 9000260000000 {65,66,...,90} 0 Zys 0D O0OUDO0DOZy OO
O0000 0000 oe0000000000O000DO a,beZy 0000

a®b:=c suchthat a+b=c (mod 26) and 65 < ¢ < 90, (2)
a©b:=c suchthat a—b=c (mod 26) and 65 < ¢ < 90. (3)



000000000 a®b e Zog 0 adb e Zog 0000000000000000(a,b) = (70,76) O
00070676 =68. 000 (a,b) = (78,89) 000078389 =89 00000 000(a,b) = (70,76)
000070676 =72. 000 (a,b)=(89,78) 000089678 =89 0000000000000
00000000000

1. M =C=K = Za.
2. KeKOMeMOOOOex(M):=MaK.
3. KeKDOCeCDOOOdk(C):=CoK

0000000000 0000000 k000000000 KeZy OOk=K (mod 26) 00
obooooOoobooooooboooon

obobobobobobobobobo KyOoooooooooooooooooooo
000 Ky=KUOOOOOOOOOOoOooOooOooOoooobooooooobooo
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0000000000000 0000O000000000000O0000O000O0ODODO0OORSA
gboboobooooobooobooboboboboobobobooboobobobobobooo
gono

gbooobooobooboooboboobooboa

3.1 0OO0OO0OO
00 3.1a.b000000b>00000000000
a=bg+r, 0<r<b
gooobobbbd g0 r0oobbbb0ooooobo 1

00000 (a,b) = (57,17) 0000 (¢,r) = (3,6) 0000000 (a,b) = (-57,17) 0000
(¢,r)=(—4,11) 0000

000 ¢r00000«0b0000000000000000000000000r0 a0
b 0000000000000000r=0,0000 a=b00000000eD b00000
ooooo

3.2 0OUOogn

0,b0000000000000e=b 00000 ¢q000000000e0 b0000000
b0 «0000000000000000e0 b000060 «000000000000000
ble 0000

a1,0; 00000000000000000000000000000000a;,a, 00000
00000d0000000000000000000000d0 a1,4,000000000000
Oel a1,a0 000000000000e¢ld 000 M
0000000000000000000000000000000000000000000
00000000

od 3.2 a1, 00 00000O0OOO0O0O0OODODOx,ze OO00O0OODOODOO
xr1a1 + T202

ocoooooboooobooooo JoOogooJOooOoOooobo0OooOoOO0obOd000000D0DOOd
Oa,e 00000000 O00O0DODOJDOd0000000D0O0O00O0O0DOOO 1

ai,as 00000000 greatest common divisor 000000000 ged(ag,az) 0000

033 a,a 0000000 dO0OOOO
d = ujaj + usas

0o0oooood w,ue OO OOO 1

0000000000000 000000000EuwciddD OO0
00 34 00a,b00 «a—b0 m(£0)0000000000

ged(a, m) = ged(b,m)

gooad 1

OO00000000D EuwcdlidO OODOOCOOODOOOOO



000000 3.5 (Euclid0d) « >0 0000000000000 0O0OOCOOODOO

a = bqy + 7, 0<ro<d
b:T2q2+7‘3, 0<ry<ry
T2 = 13G3 + T4, 0<ry<rs

Tn—2 = Tn—1qn—1 + Tn, 0<r, <rp_1

Tn—1 = Tnqn

00 34000
ged(a, b) = ged(b, ) = ged(ra,r3) = -+ - = ged(rp—1, )

000007y 00000 ged(rp_1,m0) =r,. 00000000000 7, 0 @,b0000
0000000000ged(a,b)=r, 0000000 EucidD 0000 1

00 b 0000 ged(a,b)=10000006,b 000000000000
0 3.6 (a,b)=(144,5) 00000000000 ged(144,5) =1 0000

144 =5-284+4, 0<4<5
5=4-141, 0<1<4 (5)
4=1-4

000 (a,b) =(144,60) 00000000000 ged(144,60) =120000

144 =60-2+24, 0< 24 <60
60=24-24+12, 0<12<24 (6)
24=12-2

Eucid0OOOO0O0O0OOa,b 000000 ged(a,b)=d000000000000O000O0O0O
03300 «,b,d00000O f,g0ODOOOOODOODOOODOODODOO
fa+gb=d
0000 (a,b) = (144,60) 000 Oged(144,60) =12 000000000(f,g) = (—2,5) 0000
—2-14445-60 =12

0000000000000 (a,b) = (144,5) 000 0ged(144,5)=1000000000(f,g) =
(-1,29) 0000

~1-144+29-5=1
0000000000

00 e, b0000000COCOCCOOOO0O0OO0O0000O0 f,¢000000000 EuclidOO
ubooobooooooboon

000000 3.7(00 Euclidd) 00000000000 Oa,b0000000O0e>b00
oooobooooo

r-1 = a, f,1 = 1, g—1 = 0
ro = b, fo:=0, go:=1

good
gooooo:>1000007-20 r,, 000000000 000 r,000000

Tico =Ti—1¢; + 15, 0<r;<ri_1



000O0f,¢000000

fi = fica—aifia
9 = Gi—2 —4qigi—1-

000000000000000000000000r,#0000000000gcd(a,b)=r,
0 fua+go=r, 0000000000 1

0 3.8 (a,b) = (144,60) 0000

{ ‘ fi gi Ty 4

~1| 1 0 144 -
0| 0o 1 60 —
(7)
1| 1 -2 24 2
2 [—2 5 12 2
3/ 5 —12 0 2
000000ged(144,60) =120 foa+geb=d — —2-144+5-60=12 0000 I

0 3.9 (a,b) = (144,5) 0000

i ‘ fi gi  Ti G

—1] 1 0 144 -—
0] 0 1 5 —
(8)
1| 1 -2 4 28
2 [-1 20 1
30 5 —144 0 4
000000ged(144,5) =10 foa+gsb=d — —1-144+29-5=10000 1

3.3 00O

«0 1000000000000000000000000010e0000e¢00000
00000000000000e000 (prime number) J000000002,3,5,7,11,13,... 0
0000000000 >20000000000

o0 3.10 OO0 >10000000000000000 eO0O

a:CkBk-i-Ck,lBk_l+-"+ClBl+CoBO (9)
0<c<B,0<e1<B, .08, <B,000000000000O0O0DODO 0 BOOOOO
aad 1
3.4 0O0OOO

ooooooo {...,-2,-1,0,1,2,..}0 Z0O00O000000000000 Z00O0O0O0O
0o000oo0O0ooo0oon
mO0000000000000000e,b00000000000000 ¢a—b0 mO0O0O
0000000ab0 mO0 (modulo) 000000000 mOO0O0000000000000
ooooooo

a =b (mod m)

gooo



O0O0OmO0000OO0OD0O0ODO0ODO0 ZODOODOOOOoOOoOOoOooOooOooOooo mOoOO
goobooboooboooboobombOODOOODOOODOOODOObOOODODOOObOOoOO
c0J000O0D0OOOO0OODO0O0ODe+mtO000D0O0ODOODOODODOODOO

ooodn 0O

a=mqg+r, 0<r<m

coboooobOoocoooooobbtded0 0K<Kr<mUOO0O0000O0O0OO0OCOO0ODOOCOO 00
mO00000000000000O00000000 eO0OODOOO O,1,...,m—1000000
UOmOO00000O0O0O0O0OCO0O0COOO0O0OO0O0OO0O0DOO0O0O000000O00»mOOO0DbO00
oooooooboobo»nOOOO0OO

0311 m=300000030000Z20000000O000000O0O00O0O0O0O0O3000O
gboboobo3stobooooboboboobobooboobobooobooboooono 1

00 312 m,m, 0000000D0DODODDOOK,,L, 00O0O0DODOOO0O0O0OO0O000O00CCLODO

x = by (mod my) (10)
x = ba(mod my) (11)

oo m=mm, 00000000O0O00C0ODOO 1

3.5 Ooooooo z,

oomn0OOGoooo Z,,0 {0,1,2,...,m—1}0000000000O00OOO Z,,00 mOO
ooooo0 +000 xOoOooooooooobo z,0000000100D00000mO0ODO
ooooooboooo
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4 RSAOQO

O0000ORSAOOOOOOOOOOOO0OOOOOCOODOOUOOOODOOODOOODOOOOO
ugbooaooad

1. 00000000000 p,q00000O0OOODODOOO0O
n:=pq (12)

2. (p—1)0 (¢g—1) 000000 (least common multiple) L OO0OOUOLOO0OO0OO L O
ooooooobg ebgo

L:=lem(p—1,q—1) (13)
ged(e, L) =1, l<e<lL (14)

3. 00000Db00b d.ODOODOODO
ed. =1 (mod L) (15)
00000 d.0D0000D0O000D0 EweidOOOOODOODOO
O000OD0ORSADODOOOODOOOOOODOOOOO

1. 00000000000 pg0000 n:=pg0000

2. M=C=1Z,.

3. K={(e,n) | ged(e,L) =1and 1 <e < L} where L =lem(p—1,q—1).
4. d0 ede=1(mod L) 00O00OOD

5. K=(e,n) e KO MeMOUOOOeg (M) := M® (mod n).

6. K=(e,n)€e K0 CeCDOO00dg(C):=C% (mod n).

7.0000 (e,n) 00000p,q,de 000000000d. 00000 (de,n) 000000
ooQ

oboooooooooobosbonon

Mo M—ooo Y 0oooo M4 Yooo b
| L—(e,n) | i d.: 000 i
! ! ' (de,n) - O0DDOO
' AD0O | | BOO

0O 5 RSAOOOOOOOOOOOODOOO

RSAOOOOOOOD ex 000000 dg 0000000dg(C) = dg(ex(M)) =M 00
0oooooo

Cle = (M®)4 = M® = M (mod n) (16)
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RSAOOOOOOOOOQOOOOOOOOOOOOOOOOOOOOOO

000000000 (e,n) 00O d. 0000000 RSAODDOOOUOOOOOUDDOOOM,
oboob0oooocooooobOoboboboon p,gO0bOO0O0O0OO0OO0OO0OO0OCOCOOODOODOO0
UnO000000O0O0O0O0CODOOODOOOOO0 nOOOODOOOOOOOOOOOOODOOO
gooooOoQoQoQoQoQOQoOOOO0O0OLO0 d.DOODOUOUOO RSADODOODODODODODODOOOO
000000000oo00U0boo0d. 000000000000 ORSAODODOOOOOO OO
obooooOobooooobooooboooon

041 000000000200000000000000000RSAOOODOOOOODN
0oooo

0000 260000000000000000 p,¢q00n=pg>2600000000000
000 (p,q) = (17,19 0000000r=3230000

00O0(p-1)0 (¢—1)00000000L=1440000L=14400001<e<144=1
0000000000000 000 5000000

000000 Euwlid000000000 4. 000000 d.=290000
000000000000000 K =(e,n)=(5,323),0000 d.=29,00000 (de,n) =
(29,323) 0000

0000000 “C’00000000 “7 0000000000000000(67)° = 288 (mod 323)
0D Oek(67)=28800000000000000000(288)% =67 (mod 323) 0 0 Odg (288) =
7000000000000 “C’ 000000

000007 000000000000000000000000000000000

1) (67)% = 4489 = 290 (mod 323),
2) (67)% = 290 x 67 = 19430 = 50 (mod 323),
3) (67)* = 50 x 67 = 3350 = 120 (mod 323),
4) (67)% =120 x 67 = 8040 = 288 (mod 323).
0000(moed323) 000000000 000 322x322=103684 0000000000000
103684 0000000000000 00000D0000000000000000000000
00000000000000000000000000042000000000000000
000

0000000000 WEWILLMEETATCHOFUSTATION 000000000000000
0oooooo

87 69 87 73 76 76 77 69 69 84 65 84 67 72 79 70 85 83 84 65 84 73 79 78
0000000000000000000000000000000

83 103 83 99 247 247 229 103 103 50 12 50 288 21 129 185 187 87 50 12 50 99 129 10
00000000000000000000000000000000000000000000
000000000AODOOODOOOOO BOOOOOOOOOOOOOOO0 BOOOOODO
000000000000000 (de,n)=(29,323) 00000000000000 1

0 4.2 (00000)0000020 1300000,28,00000000000002x2x---X2=
81920000 1200000000000DOO0O0DOOOODOOOODOOODOODOObODO
oooooboobooooobooogoooo

0001300000000 1x22+1x224+0x21+1x200001101 0000000000
gboboobo oo l10obooboobooon

goboboooboob200000000000bOO000OO00O0DOOO000bOO0O00 =
gbooooOobooooobdobotd.-. 00000 1000000000 1000 2z:=22x+10
gboooboob obob0 z:=2200000000000201—-3—-6—13000000

1 0 1

(17)
1 - 3 —- 6 — 13

0000000000000,2%, 0000000000000

22 x 2(=2%h) = 8
8(=2%) = 64
64% x 2(=2072T1) = 8192

12



gbooooboosboboobooboobooboobobooobobooobooboooobooonoog
00 MOd0O, M, 0000000 dO00000O0 bgbg_y---b1bg 000000006 =1.

1. 000 i:=k—-1,z:=M.
2., =0000 z:=220000000 z:=22xMO00000

3.¢:=0000 0000000000 ¢:=+—10000000 20000

(p,q)=(17,19) 0000000000000 0OOOOUOOOOOOOOOOOOOOOO
goooOoOoOoOoOoOoOoOOOOOOOOOOOORSADODOOODOOODOODODOOOOODOOO

oooooooo
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5 GUu

RSAOOD000000000O0O0O0O0O0O00000000O 500000000000

1. RSAOCOOOOOODOOOOO0O0O0OOO0O0O0OOooOODODOOO0OO0O, 0000
goooboooobobooobooooon

00D 0000 (e,n)0 00DDOOODOO.

00D oooooooooo.
Qoo [Dojp 000D (d,n) 0 DDODOOOOOO.

00p oopooooooao.

uode:

obooobooooooboboooooboooooboooooboOobooon

0000 150000 620 O0O0O0O0OO0O O10RSAOOOOOOOOOODOOOOO
Ubd0000rmsactD00oonooooOoonOn.

2.100 100000 0000000CODOOOOOOODOOOOCOOODOOOOODOODOO

3.00000 p0 ¢O0O000p—10 ¢q—1000000 L=lem(p—1,q—1)000000
0000000000000

4. 00 LOOODOged(e,L)=100 1<e< L O000000 e000000O0OOODOOO
googooon

5,00 LO eO00O0Oed=1(mod L) O0O00O0OOO0 400000000 0OOOOODOOO
ooo

6 LOUgobooo

6.1 0ODOUOOoOdoOoooOog

0000000000000 000000RSAODODOOOOOOODOODODOOOOOOOOO
Oo0000dOo320000000 co00ogoooooooooooooooooooobooboo
gbooobooboboboobooboobobooboobooboboboboobooboon

1. 000000000000ooooooooooOOO0O0OOOCOCOOOOOo”" 000
0000000000000 RSACCOOOOOOOOOOOOOYe DOODOODOOO
ooooooobooboooobbooooooboboooooboooboboooboooonoonog
000000000 0000O07geo” DO0OO0ODOODOOOOOODOOOO “hoo” 00O
ooooboboooooboooooooooooooooboooboobooooooooon
00 food hooODODOOODOO dfO0O0DDOOODODOOODOOODOOODODOOO
oono

2. 00000000oooooobfeodbObOOO0OOOODODDOOODODODODOOOODO
O00UOgoo0O0O0OOOODODOOODOOUOOODODDOODODOOD fooh EOFOODOOOO
gbooboboooboobobooboboobooboboobooboboobon
00000000000000000000000000 000 25=28—-1000000
gbogboobooboboobooboobooon

3. 00000000 MOO0OLSML25000000208<n=pg 000000000 p,q
gooooobooogd
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4. 000n>250000000 CcO 26000000000000000O0O0O0O0OOAO
oo0ooC0 MOOOOOOO DO0OOoOoOoOooooooooooooogog coooo
gbooobOobooooobobooooooboo

0000000 410000000 “«C>’U0000 6700ek(67)=288000000 288
obooooo20000000000

5. 000000000000 O0000000O00O0 320000000000000O000O0O00
00000000000000CO0000000000 int,long000000O00O 23 —1
ooboobOobooooooboboobbooo3200000000 10000000000
oboooboboooboobooooobooo s1oooooon

6. 000000000000000000 »20000000000000000000000
0000000000R<2%-1,00000,01500000000000000000
O0n?<23% <2 100000

7.0000002=256<n<2¥ 10000000 p,q0000000O0O0O0DODODOO

00000(p,q) = (29,31) 0000024 <29 <2500 24 <31 <2°000000
2 <29=512<n=pg=899<1024=2000000000000000000000
0 (p,g) 0000D0 (29,31) 000000000000000 (p,q) =(241,251) 00000
2T <241 <2800 27 <251 <28 00000 02% < 215 = 32768 < n = pg = 60491 <
65536 =21 00 000000000000000000 (p,g) 00000 (241,251) 00
0000000000000

8. 00000 (p,q)=(29,31) 00000000n=pg=2899>2°000000000000
MOOOOOOO COO00O0000000000000000000000000000
00000000000000000000000000000000000000000
00000000000000000000000000000000000000000
000000000000000000000000000000000000000000
00000000000000000000000000000000000000000
0000000000000 00000 CcO0000000000000000000

9. CODO0ODO fgetcd fputc O OO OO00ODOOOOODOODOOODOODOOODODOOOOODO
gboboobobobooboobobooboobobooboboboobooboboon
oob0o0 pOO0O0O0ODOOO0DOOODOODOOBOOOOODOOODOODOO 330
good

0000000 410000000 “C’00000 6700ex(67)=2880000000
0 28800000020000000000000000000000000000000
000000000000000B=2560000288=c; x (256)! +¢o x (256)° 000
O (e1,c0)=(1,32) 00 ¢ 00 255000000000000000000000000
00000288 000000000000010 32000000000000000000
000000000000000000 10 3200000000000002880000
D00ex(288)=67000000000

6.2 0OOOOOOO

goo0oO0ooOo0OO0O0O0O0oooOoO0oOO00O0OoooOoOOOo0OOoOooOoODOoOoOOoOOon
00000000000 (D000ied00000OO0O0OO0OOO0)0ODOOUOODOOOOOPSOODO
PDFOCOCOOO

http://www.lit.ice.uec.ac. jp/kuri/C3/
gooooO0O0O0OOO0O0O000O0O0O0O0O0,00000ooooooooooooooUoOooo
goooOoOoOoOOoOOO0OODOO“IED:” 000000000000 O0O0OOOOO

1. RSAOO0O0D0OOOO0D0OODOO00O0OO0000ODOTrsa.cd
gboobooboobobbooboooboobooboboboboboobooboo
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0000000000000 10000o0ooooo (5,323) 00000000 OOOOO
0000000 fooOOODODODOOOODODOOODODOO gooOOOOODOOODODOOOODOO
foo0OOUOOUOOUOUDOOOUDO gooOODOOOOOOOOOOO(p,q) =(17,19) O
U00On=323000000

0000000000000 200000000000 (29,323) 000000000000
O000000db0 gooOOODODDOODOOOOOOODOOODODOO hooOOOOODODOO
O000D00Ogoo0DOOOOODOOOODOODOO hooOOOODOOOO

ooooodif0oo0ooooooooooooooooooooooooooooog
gooano

IED: gcc -o rsa rsa.c

IED: more foo

WEWILLMEETATCHOFUSTATION

IED: rsa
This is RSA-cipher program.
Now would you please select 1.encoding or 2.decoding?
Select the number 1 or 2. : 1

...start encoding for RSA-cipher.

1. public-key (e,n)? Input e and n such as 5 323. : 5 323

2. input file name? : foo

3. output file name? : goo

... end of encoding for RSA-cipher.

IED: more goo

SgScgg2”L2 W2 L2cl

IED: rsa
This is RSA-cipher program.
Now would you please select 1.encoding or 2.decoding?
Select the number 1 or 2. : 2

...start decoding for RSA-cipher.

1. secret-key (d,n)? Input e and n such as 29 323.: 29 323
2. input file name? : goo

3. output file name? : hoo

... end of decoding for RSA-cipher.

IED: more hoo

WEWILLMEETATCHOFUSTATION

IED: diff foo hoo

IED: 1ls -la | grep oo

-rW-r--r—-— 1 kuri teacher 26 50 130 12:20 foo
-rw-r--r-— 1 kuri teacher 50 50 130 12:21 goo
-rw-r--r—— 1 kuri teacher 26 50 130 12:21 hoo
IED:

.00000000o0oOoO00oo (feopy.c)

oo0o0O0O0O0O00000OO0OOODO OO0 ODOOOOOO0O0O cO p24a7000000OO
oboooboooobooboooobooooon

gooboboooobooooooboooobobooooboooooboobooooooobooOog
ooooboooobooboooooboooooobooooboon

IED: gcc -o fcp fcopy.c
IED: more foo
WEWILLMEETATCHOFUSTATION
IED: fcp

...start fcopy.

input file name? foo
output file name? goo
...end of fcopy.

IED: diff foo goo

IED: more goo

16



WEWILLMEETATCHOFUSTATION
IED:

.000000000D00O00OO (fdisp.c)

gboobgoobooboobobooboobobbobooboboobobboboon
00o0o0ooOooo (1000)o0b0o0 “00 <——>10007”000000000000
00000000000 AsCcHIIooooooooo

IED: gcc -o fdisp fdisp.c
IED: more foo
WEWILLMEETATCHOFUSTATION
IED: fdisp

...start fdisp.

input file name? foo

ZoHAHAHPFrAHnNnagmoxon QAP HS M
A
1
|
\
o8]
o~

<--> 10

...end of fdisp.
IED:

. 0000000000 (fchg.c)

ooboobooooOooboooboobooboooboobooboooooboooboobooooo
ubogbooooboobdobooboaobuooboboboboobooboboobon
ubogbooooooboaboaoo

IED: gcc -o fchg fchg.c
IED: more title
A Method for Obtaining Digital Signatures and Publick-Key Cryptosystems
IED: fchg

...start fchg.

input file name? : title

output file name? : goo

. end of fchg.
IED: more goo
a mETHOD FOR oBTAINING dIGITAL sIGNATURES AND pUBLICK-kEY cRYPTOSYSTEMS
IED:
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5. 00 EucidO0O0 00000 (euclid2.c)

00000000000 00000o00O (e,b)=(144,5) 000000000 40000
00000 fa+g¢gb=d0000 (f,g) DOOOORSAODOOOOOOOOOOOOOO
0000 e000O000O(Lye)=(144,5) 00000000000O000O0OO d.=2900

oooobooooo

IED: gcc -o euc euclid2.c

IED: euc

...start Euclid algorithm for finding gcd(a,b).

Input two numbers a and b where a > b such as 144 5 : 144 5

i fi g_1i r i q_1i
a1 o 1 -

0 o_“ 1 B 5 _“- o
“I_" 1_“ -28 B 4 _“28 o
Y PR 0 11
) 3 5_“ -144 o 0 o 4 o

d = gcd(a,b) = gecd( 144 5) = 1

(f*xa) +(gx*xb)=4d
( -1 % 144) +( 29 * 5) = 1
(£,8)=( -1, 29)

...end of Euclid algorithm.
IED:

6. 000000000000 DO000OOO0 (shift.c)

00000000000000000000 fO000000QC0O0O00O00O fooOOOOO
00000000 gopoOOOODOOODOODODOODOOOODOOOO —kODOOODOD
000000 gooODODODDOOODODODOOOODODOOOODOD hooOOoooO

IED: gcc -o sft shift.c
IED: more foo
WEWILLMEETATCHOFUSTATION
IED: sft
...start SHIFT-cipher.
1. If you want to encode input-file then input k, otherwise( decoding ) -k.?
shift size k 7 : 5
2. 1input-file name? : foo
3. output-file name? : goo
. end of SHIFT-cipher.
IED: more goo
BJBNQQRJJYFYHMTKZXYFYNTS
IED: sft
...start SHIFT-cipher.
1. If you want to encode input-file then input k, otherwise( decoding ) -k.?
shift size k 7 : -5
2. 1input-file name? : goo
3. output-file name? : hoo
. end of SHIFT-cipher.
IED: diff foo hoo
IED: more hoo
WEWILLMEETATCHOFUSTATION
IED:
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3] 0000000 DO0O0DOO 280000000000 2003.

4 00000000000 120000 000001990.
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[6) 00 (D0D0)0,00000 C(00000),00000,199500 70).
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00000 (ASCHII) 2

ASCHII

ASCII(0D 0 0O0) OO O American Standard Code for Information Interchange(J 0 OO 000
0000)0000000001963 0000000000 (ANSI: American National Standard
Institute) DO00007/80000000000000000O0T0O000O0O012800000000
000000000000000000000000000000D0 10008000 (1000O)
O000000oo2k60000000000000000ASCIIOODOOODOD 12800000
goobbobooobooobbooobooobooobbooobbuoobboobooo
0000000000000 ooOoo JiIsxol oooooooooooo
0000700000 00ODD 3000000 40000000 160000000000O00OO
0000D0D0000zo0OoO1l6e00O0O0O 5A0200000 10110100000

ASCHII

ooNoo || o [ 1 [2]3]a]s5]6] 7 |
0 NUL |DLE[SP|ofal[P ]| ] p
1 soH |pc1| ! [1]AalqQlal ¢«
2 STX |pC2| 7 |2 B[R|[b]|
3 ETX DC3 # 31/C| S| c S
4 EOT |DCca| ¢ |a|D|T[a] ¢
5 ENQ |NAC| % |5 | E|U/|e u
6 ACK |SYN | & |6 | F|V]t] v
7 BEL |ETB| ' |7|G|W|g| w
8 BS |caN| (|s]H|[X 0| x
9 HT | EM | ) |91 |Y]|i] ¥
A LF/NL | SUB | * gzl =
B VI | ESC |+ |:|K|[|k]| {
C FF FS | LN |1] 1
D CR | ags | -[=[M] ] |m]| 3
E SO RS | . |>| N[~ [n]| -
F ST us | /[?2]lo] _]o]|DEL

20000000 0000000 0000 (e-mail: kuri@ice.uec.ac.jp), 2005.(2005/05/10)
gooooOoooobooOobDOoooOOobooOoboooboooobooo
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googoogo

oooo ogo goooag oag

NUL 00 Null O

SOH 01 Start of Heading ooooood

STX 02 Start of Text gooooo

ETX 03 End of Text gooooo

EOT 04 End of Transmission gooo

ENQ 05 Enquiry goooo

ACK 06 Acknowledge oood

BEL 07 Bell oa

BS 08 Backspace goooboooOo1ooooooa

HT 09 Horizontal Tablation gooo

LF/NL 0A Line Feed/New Line gooooooooooa

VT 0B Vertical Tablation gooo

FF 0C Form Feed oo

CR 0D Carriage Return oo

SO 0E Shift Out ooooooag

SI OF Shift In ooooog

DLE 10 Data Link Escape goooooooood

DC1 11 Device Control 1(X-ON) JOodO0 1ioooboooooboooooo

DC2 12 Device Control 2 gooag 2

DC3 13 Device Control 3(X-OFF) o000 3q0oopoooooooooo

DC4 14 Device Control 4 oooog 4

NAC 15 Negative Acknowledge ooogd

SYN 16 Synchronous Idle oood

ETB 17 End of Transmission Block OO00OO0O0O

CAN 18 Cancel oood

EM 19 End of Medium oooo

SUB 1A Substitute Character ocp/MOOOOOOOOOOOOO
oooobooo

ESC 1B Escape good0oDoOoOoOoooooOooooboooooa
ooooobooo

FS 1C File Separator gooooooooo

GS 1D Group Separator gooooooooo

RS 1E Record Separator ooooooooon

US 1F Unit Separator gooooooooo

SpP 20 Space gooobooooooa

DEL F Delete oo

0o0od
[1] http://e-words.jp/w/ASCII.html
[2] http://www.psl.ne.jp/perl/pdojo00b.html

[3] http://www.komonet.ne.jp/ perl/chapl3.htm

[4 00 (000)0,00000 C(00000),00000,199500 70).

p) OODODOUANSICOOOO (DD 0O 10000),00000,200000 120).
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